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SSC-01 : GUJARATI CONTENT

QAL :
(1) Y-l 2A-AR el 2ydldl 8,
(2)  uds useHlL oL el ol bl 8.

1 A wadldl G gsui vl 8
(1.1) ‘DR 20 wlEd’ wsHl @sd olloosil oeil-l «UuH %eudl.

(1.2)  ““s1m 52 S @q, 249 A Has 2Rl oed ol 568 Qa7 »i
Ulsailol e 254l avil,

Aol HISL dadl dus, A UsIR Audl.

(1.4) w9 Wbl qui) :
(1) 8130 woel-ll aval 14 315 Geleel .
(2) GAlal sl @Al 2 25 GeleL ).

2 AlAAmil SO wRL AR YAl FaAlel Qv ¢ 12
(2.1) sl ‘Yo« AdBH AuRL AosHl Asd S,

(2.2)  ‘sw13u HS1gMsIE] B, A RIS HdaL W HER 58 S ?
(2.3)  [rllon oud irsht, ushi 249 sk 56 A8 aund & ?
(2.4)  ®1al 9dA 1A 2feal-l Auis A ARBA UsR seudl dxidl

Uik Yl 6l Quil.
(2.5) WUl W8 Qui) :
(1) 0 d 0 ollon QRuIHL Al - s3ad Aol
(2) 0 Goaq 3Ry 2 Ul syl WA,
(3) QAx-iiaxil oMl 58 8 3 oAl 20d & Wl
- ugln s1Ul oNsdl alsy oield).

3 AlA-midl S5 uel ARl uadlHL YRR Fdlel QUi ¢ 15
(3.1)  alsceudid wriduis $3.
(3.2) ugl anldle ....... sl el Mot agldl,
(3.3)  ‘“wlRul slausR, s A sl wRudl.
(3.4) (ol @vll @ sugdw’
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SSC-02 : HINDI CONTENT

e
(1) 99 v otfvad ¥ |
(2) faoew oridied &

1 ™ uel & SAX ww—a1 9§ fWiag
(1.1)(31) wTaam@s ¥ TEA
(1) wRaEl & uedr 1 AT |
(2) < fqarfaar § sg @ |
(§) wgaTas H3 YEAT
(1) WUy das Bl R o/ e Hd & |
(2) @« ¥ faae! 7 wew famn |
(1.2) <HU Piq H-— aiefas far g ?
(1.3) #rea ¥ ST 99 @9 ¥ & e fhan 7
(1.4) omat & w1 fagwar W@ ¥ ?

2 el 9R Ul % IR QT

) TS Y WRA % RE @ R w9 A s gEe @ ¥ 7
) WA @B 99 W B & fag e 5w fen e

) STEESll ] qIEne 9=l sl guie iy |

) feqolt fafag : @l @ sifemn |

) Bk [hY HEd § ? STk UHK SAEIV gred 99HEy |

3 Ty # 9 f6dl A9 % R own ¥ fafau -
(3.1) ‘@I W UH A A H AN UPHT €rd B AUA & H
fafqu |
(3.2) ‘@™ H A oide & grefedr gHHARY |
(3.3) ‘w@ws ARG ¥ WY GUAl BT 9RG & | 39 g W eve e
I BN |
(3.4) uHW fhY Hed ¥ 7 SUB TOI YHR ST Ged THART |
(3.5) ‘= et g9 WU Hfq W gEI W& aun el H fafag |
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SSC-03 : SANSKRIT CONTENT

1 A s uadldl 254l gael Y 8
(1.1) <A 2«0e woe-dl AR 92l uldl
(1) weEt:
(2) =l
(1.2) (1A 20al WLl AR )
(1) e
(2)  wTgEH
(1.3)  AsdAGML ‘Tl wuloL weudl 215 Gelswel M),
(1.4) 1A= eIl [eilsa aual
(1) s
(2) @
2 (AL wadmigl ASuel 04 sl aet 2 : (5 Hidl 4) 12
2.1)  2Bu2asfl 55-55 RANARD Haui aeld] & ?
) Rl 2arll ol RAdL edl ?
) 5o 58 A namiell s wui ?
) il AR-AA Asarl L ul @ 7
) A wselol GrR ArsAUIMIAL 204
(1) w5 g ?
(2) W B wwafy ?
(3) gftrrwr fav g wafa ?

3 {lA-umidl SueL 03+l Ridd walel »udl (05 «idl 03) 15

(3.1)  Wols W e AUl ) 3] edl ? 2A aae(lai
SA1-54L AL s oL ?

gRUAHL WHIRIsAL [ s+l @vil.
1AL QL) geHisd wHel $30 quil ¢
1) 9wt | = g we Sy gl e

(

(2) U dWHh HOAW HAER: |
(3) = uigH g |

(4) o/ ! g wi, dr=Afq |

(5) SIYT SATEHIST HE T LA |
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(3.4) 1A 20dal ya-dl Hgesuml sqdie s ¢
Jaee o < wfderny Tws |
gt fod = gareT g aq |
S AT 99 giHe sgfawa |
TSN AT & IRassld @ qraa: ||
(3.5) <A 20dal d-uizdl Higeusmi viqdie s ¢

TEHT Y HEled: WA=y TRYd | SRS e
Ffemistt @err: grewy femy aEem- angw wa aeed |
U fad @ml oea: oeEe oiTeRq | @ 39T Wy
HEAE METERTE SR fdd FHed: go=: aE| | 9
Ty TRIGARIRYTEE Had: 3N yast Famd a s | 9™
WA B ®y, A Aes] add |

SSC-05 : MATHEMATICS CONTENT

1 A s uadldl 254l gael Y 8
(1.1 Rl m @A R A uwRRAR saladl »usl €2 :
@ mnNnn=m
b)) mnn={4}
(1.2) vy qull e
Q) [ag Brel
) el [geess

(13)  2ARusiR 62 (43 +42) 2 (43 -42).

(1.4)  DBlend elgugl ied g ? dsf @us @zu weldl.

2 ~{lAnie]l SiSuRL AR UL Falel HML 12
(2.1)  wdlsw@L 4x + 3y = 1240 G3a dRi-L SSURL A8 82s Hadl.
2.2)  ylsas-l wia yduReuil arudl.

(2.3) oLyl VAR BRIl SR Axdl.

1
2.4 Ne 3 e ARAlsw@ 53 ¢ )
(2.4  Ua AvlL Deed AR50 5 I

@5 A p(x)=x* -4 +3x-13 dx)=x+2 O MM
1 dl Hodl A% etguel 2k,
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3 lA-uniel siSusL AR warldl [Rgd wdlet A 15

(3.1) o PSRl vrudAl WY 4 1 5 : 6+ WHIRML €14 dl d Pasiei-l
ARY, vRIAL Iy 2L
(B.2)  LAOC @ ZBOD MR 8. M LA0C = a+ 20,
MZBOD =2a-50 a4 4— (OB, d. MZAOD AH\.
(3.3) [zad yu AHlswl 3x + y = 2+ v R,
(34 ® A={-3,2,4 31 B={-1L1 &4 dl BxA A
B X Bl 2UAuUA U AU S
(3.5) A U={ab,cde f,ght, P=4{bcde,f,)}
O ={a,c,d,e, g} W2 1ol [HUH AsRIL.
ENGLISH VERSION
1 Answer in brief : 8
(1.1) Draw figure of the following situations for line m
and n :
@ mnNnn=m
b)) mnn={4}
(1.2)  Write definition :
@) Opposite Rays
(1) Bisector
(1.3)  Product of (ﬁ+ ﬁ) and (ﬁ_ ﬁ)
(1.4) What is cubic polynomial ? State the general form of
cubic polynomial.
2  Answer any four in short : 12
(2.1) Find three element of the solution set of the equation
4x+3y =12.
(2.2) State five postulates of Euclid.
(2.3) Explain in brief types of triangle base on their sides.
. . . f 1
(2.4) Rationalize the denominators of the 5 J§
4 3
(2.5) What is the remainder when P(x)=x" —4x” +3x-1

is divided by d(x)=x+2 ?
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3  Answer any three in detail :

3.1

3.2)

(3.3)

(3.4)

(3.5)

15

The measures of angles of triangle are in the proportion
4 : 5 : 6, find their measures of the angle of triangle.

ZA0C and BOD are vertically opposite angle
such that M Z£AOC =a+20, MZBOD =2a—-50 and

A—O-B.Find M/40D.

Draw the graph of linear equation 3x+ y =2 in two

variable.

If A={-3,2,4} and B ={-11} then draw the graph

of BxA and BxB.

If U={ab,cd,e,f,g h}, P=4{b,c,d,e, [}

O ={a,c,d, e, g}, then varify De' Morgan's laws.

SSC-06 : SCIENCE CONTENT

1 A s uadldl 254l gael Y

(1)
@)
®3)
(4)

e+l afa-l oflgl Muy quil.
Baaldsdl S sday ?
RRASAAAL 212 Ul

[eid 2R vied g ?

2 Al A9 AR waKAL Gl UM

(1)
@)
®3)
(4)
(5)

yasiels Gall-i sl aeudl.

ARUAL Selalril IR ARLL USIRL %¥R1A).
dslad dvull : AR glaRl x4 s glaril.

o3 Beleel UlBd AN,
-(3ReilxL dRIdil 2 GuAlall ARl

3 Al A9 A8l MarilL G UM :

(1)
@)
®3)
(4)
(5)

sRUARYA] AL Vil 13l Anmal.
Aduall-fl -l Anmal.
MaBid adamy aufd axosdl.

12

15

dcalsiRIAL ALABLS MUu AHAdl 249 d- ulils @3y Hadl.

AoIMIA A&RIHL UM dirdl.
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ENGLISH VERSION

Answer each following question in brief : 8
(1) Write Newton's second law of motion.

(2) What is Buoyancy ?

(3) Define meaning of plasmolyses.

(49) What is the meaning of Tyndall effect ?

Answer any four questions : 12

(1) Write functions of collenchyma.

(2) Describe types of disease according to their spread.

3) Give difference between true solution and colloidal
solution.

(4) Explain inertia with example.

(5) Write properties and uses of X-ray.

Answer any three questions in detail : 15

(1) Explain construction and function of mitochondrion.

(2) Explain construction of Nervous tissue.

(3) Explain uniform circular motion in detail.

(49) Describe universal law of Gravitation and its
mathematical form.

(5) Describe law of conservation of momentum in detail.

SSC-07 : HISTORY CONTENT

YA

(1)
@)

1

ogqlell W Vi Y e dldl A,
ofL % ULl Aol sHIGAIR Sl YAl 5.

S IDETRIES ST ST TN i 4x2=8
(1.1)  'NCF-2005' »i2d g ?

(1.2)  sul iyl 31 Se-ORuL svusll eird 20l 8dl ?

(1.3) M Aus 5L st dls R, S191 s&l ed ?

(1.4 “OAd A%~ @ANAL Bad’ s412 G © 7

{12 wamidl S uLRL AR(4) warllsl walel A8uHL UL 2 4x3=12

(2.1)  AAdle »ed g ?

(2.2)  AYsd AR Al Geal Rg sl ¥ dal 2ley © d-l eal
o & 7

(2.3)  “oUd AL GA silasd] Aqan’ (42 g AR ) 7 quAdl.

(2.4 usudE ed g ?

2.5) [Beaseiagl anaa-{l auygdl 2.
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3 AL uaHiYl SlOuBL 2ARLAL FAlel M) ¢

(3.1)  uaH [azqyg M2 waletelR uRelol arudl.
(3.2)  *lRdxll dlslpl AU sl W w2 @AM sdl sdl ?
(3.3)  eld-L Wl sl A Asiil =l s
(3.4)  elRd-l QA 2 2sNdl® a2 (sl 2l 2.
(3.5) @y ua~il wkinel s sielel 209l 4 edl ?
ENGLISH VERSION
Instructions :

(1) Answer should be neat and clean.

(2) All answers should be in proper order.

1  Write answers of following in short :

(1.1)
(1.2)

(1.3)
(1.4)

2  Answer any four from the following questions :

(2.1)
(2.2)

(2.3)

(2.4)
(2.5)

3  Answer any three from the following :

3.1
3.2)
(3.3)
(3.4)

(3.5)
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What do you mean by 'NCF-2005' ?

In which year French East-India Company' arrived
in India ?

Who said, "I have broken the salt law" ?

Which is the foundation day of Gujarat State ?

What do you mean by 'Colonialism' ?

How many organs of the structure, adopted by the
United Nations to achieve its aims ?

What do you understand by 'Fierce Revolutionary
Movement' in Gujarat ?

Explain the meaning of the 'Regionalism’ ? Discuss.

Describe in brief the meaning of the 'policy of non-
Alignment'.

Explain the factors responsible for the 'First World
War'.

Why did the people of India oppose the 'Simon
Commission' ?

Discuss in brief Indias relations with its neighbouring
countries.

Development of India in the field of science and
technology. Discuss.

Why did 'Swaraj Party' decline ?

5x3=15

4x2=8

4x3=12

5x3=15



SSC-08 : GEOGRAPHY CONTENT

1AL RS naAlAL 2511 FALGL Y 8
(D 2loud-l olels e yuendl.

(2)  asyol gl AQR0ML el [Res Yy 21d © 7

(3)  gerdl aruli-l usall S 58 © 7

(4) G MR-l dddlRl - Geudl L.

(AL wadmigl SiueL 04 waddlsil Bt ML ¢ 12
(1) ™RdL dusadly GRayea-l dla®@isdipl ol

2) ‘Rl vadl (A dHy .

(3) AU 1% AseHl 9. L (AL uxeadl.

@ Q- [ s Bl 2.

(B) oew gl weudl [ uxeadl.

(AL usDHigll S1SuLRL 03 uaddl-l [dd gael UMl ¢ 15
(1) el GuAlPidl avil.

2)  uollsdld A sdl WReL-L sl MU arudl.

(3) GuR MRa-L Held (A2 Wl 2M).

@) 2l Hamas v ddl 214 AR queldl.

(5)  MRAAL U 2 [ [ Wl 20M).

ENGLISH VERSION

Answer the following questions in very short : 8

(1) Explain the geographical meaning of a hemisphere.

(2) Why do devastating floods occur in Brahmaputra during
monsoons ?

(3) What is called a natural vegetation region ?

(4) State the festivals and holydays of North India.

Answer any four of the following questions : 12
(1) State the characteristics of peninsular plateau of India.

(2) Give explanation about the "Trade Wind'.

(3) Wildlife is in danger today. Explain this statement.

(4) Give a brief account of Tsunami.

(5) Explain the Ganga river system.

Answer any three in detail : 15
(1) Write about the utility of forests.

(2) State in brief the factors affecting the climate.

(3) Give information about the North Indian plain.

(4) Describe the effects of disaster on human life.

(5) Give information about the location and the area of India.
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YA :

SSC-09 : ACCOUNTANCY CONTENT

(1) oML o ussil sAd%Ad 9.
@2) [sedl idls 8.

1 A s uadldl 254l gael Y

(1.1)

(1.2)
(1.3)
(1.4)

o e M8l w3UAHl T 500+ GW3 53 9. Al Gus uR
Afs 10% avl @1y aya sl € dl g4 Alls Gulz A
BULS YR L% M.

ee(lerr Uéle yeols vied g ?

Y Yeisl vl sA1L GUIR Bl S YHL SAUMHL 20 6 7
Ul i Mefleidle [ vied g ?

2 (A waAidl SiSuRL AR (04) WAL Bl UM ¢

(2.1)

(2.2)

(2.3)

(2.4)
(2.5)

e aud Ul anm sal, eualleidldl el ysaal gl
Masdl-dl 941l T 60,000 ©. S, B a4 I &oflelrle
Asl-qsaid adAR( uMIRL 4 1 3 1 3 O, wu-lld @vil.

A, M A C 305 0 241 MHIRAL S5l ddudl e(lelR)
8. M Mgd d ©. Ml «sidl @ioL CA Hadl. isl-dslie
UHIRL A Elei YHLRL 2Lk,

X o Y 5:4ell WHIRIML A8l-dsuidl A 6. du8l Z -dl
Ae(lelr dld udal el 218 e(lelR) ML ASl- sl
AL (B QAL e wmLRL 2Lk,

A(leldl sAH, AUR s 8 AU,

QR Vi Al UHIRL Geleel AlSd AHAA).

3 A usAmidl siduel 218l (03) warl-l [Rgd wdlet 2

3.1
3.2)
(3.3)

(3.4)

(3.5)

wadl vied g 7 d-l Hedisha AR sl uRelol duemdl.
daslad auil : RAR yduiai-l ugli A4 2R Yduldi-l usl.
[Beul 21 g[ve~{l Ul 48 T 8,00,000 © 24 »URA 4NdR-)
£ 12% 9. Seai 2181 Al -8l 1454 T 1,00,000, T 1,40,000
e T 90,000 9. wadd Y Seal 200 quiql AU s
Asidl 2 Q] vl 2R s8] 5.

M 25l N 2 1 1ell WHIRIHE )51 ddAdl 3is ULl Hio(leiR)
©. L ws1Mi 1/3 o1l Adl sueflelr dald slviad saMi e,
L 44 U2 T 70,000 21 wadl U2 T 30,000 As314i @ld €.
Ll wdgl avid wiedld yedise T 1,20,000 sl 20, M
i Nl 94l g3y T 60,000 wadl salad sd. 28
AR(lelR, Al Asl- sl uHRL 1: 10 1 <5l saMi e,
33l VU Q).

e(leld] Ul (ol uglizil axondl.

12

15
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ENGLISH VERSION

Instructions :
(1) All questions are compulsory.
(2) Options are Internal.

1  Answer the following questions in very short : 8
(1.1) Manthan, withdraws ¥ 500 in the beginning of every
month. If 10% p.a. interest is chargeable on drawings,
determine annual drawings and interest on drawings.
(1.2) What is reconstruction of a partnership firm ?
(1.3) When revaluation account is debited and credited ?

(1.4) What is dissolution of firm and partnership ?

2  Answer any four (04) of the following questions : 12

(2.1) At the time of liquidation, after making payment of all
liabilities and partners loan, surplus of asset is
% 60,000. The profit-loss sharing ratio of S, B and I are
4 : 3 : 3. Pass journal entries.

(2.2) A, M and C are the partners sharing profit and loss in
the ratio of 3 : 5 : 2. M retires and his share is taken
up by C only. Calculate the new profit and loss ratio
and gaining ratio.

(2.3) X andY are the partners sharing profit and loss in the
ratio of 5:4. They admitted Z as a new partner. All the
three partners will distribute future profit in equal
proportion. Calculate sacrificing ratio.

(2.4) Describe the objectives to prepare a partnership deed.
(2.5) Explain the sacrifice and gain ratio with illustration.

3  Answer any three (03) of the following questions : 15

(3.1) Give the meaning of goodwill and explain the factors
affecting to its valuation.

(3.2) Daistinguish between : Fixed capital accounts method
and Fluctuating capital accounts method.

(3.3) Divya and Drasti's firm capital is ¥ 8,00,000 and
expected rate of return is 12%. Last three year's profit
are ¥ 1,00,000, ¥ 1,40,000 and % 90,000 respectively.
Determine the value of goodwill of the firm on the
basis of 2 years purchase of last three years average
super profit.
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(3.4)

(3.5)

M and N are the partners in a firm sharing profit and
loss in the ratio of 2 : 1. They admitted L as a new
partner for 1/3'd share in the profit of the firm. L
brought T 70,000 as capital and T 30,000 as premium
for goodwill in cash. Goodwill of the firm valued at
T 1,20,000 at the time of admission of a new partner.
Goodwill appeared in the balance sheet of M and N at
% 60,000. New profit sharing ratio of all three partners
is be 1 : 1 : 1. Write necessary journal entries.

Explain the methods of Dissolution of partnership firm.

SSC-10 : ECONOMICS CONTENT

JAAL = oYL % uadl s 9.
| I (DRI S TP R ET R CTERE S TUN i 8
(1.1)  axdllaesledl ¢ amudl.
(1.2) o2 darld dMHe ved g ?
(1.3) 'TFFCO'Y Y <l L.
(1.4 R4 ved g ?
2 ~{lAAniel S5 ueL AR-AL G Y 12
2.1 gRuRIER U Y @il
(2.2) [Rawis Heta yxAdl.
(2.3)  WNdR ed g ? WAid-L 5101 wRlLd).
(2.4)  sMNaoLd Heta ANl
(2.5)  oRdul Wasl s 00 g5 quil.
3 {lAmiel S wel 2R Uil G M) ¢ 15
(3.1  2llellis s 2 s dlial walal amudl.
(3.2)  aAxcl(M¥~ei-L Guidl oeudl.
(3.3)  idRS dUR i [MeY dUIR 92 dsldd %Rldl.
(3.4)  wslsw-l xR sadl L Gkl wRLAl.
(3.5)  oRRaHl sl adHin R e,
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ENGLISH VERSION

Instruction : All questions are compulsory.

1  Answer the following questions in brief : 8
(1.1) What is meant by "Population Explosion' ?
(1.2) What is Vibrant Gujarat Summit ?
(1.3)  Write full form of TFFCO'.
(1.4) What do you mean by health ?

2  Answer any four from the following questions : 12
(2.1) Write a short note on Concept of rate of exchange.
(2.2) What is the importance of education ?
(2.3) Explain the meaning of Migration. Give reasons for it.
(2.4) What is importance of Agriculture sector ?
(2.5) Write a short note about development of railway in

India.

3  Answer any three from the following questions : 15

3.1

3.2)
(3.3)
(3.4)

(3.5)

Mention the steps taken by Government for the
industrial development.

Explain the Population Control Policy in India.
Difference between Internal trade and Foreign trade.

Explain measures of mild down the problem of
urbanization.

What is present situation of agriculture sector in India?

SSC-11 : BUSINESS MANAGEMENT & ADMINISTRATION CONTENT

YA :

(1) oML o ussil sAd%Ad 9.
@2) [sedl idls 8.

1 A s uadldl 254l gael Y 8

(1.1)
(1.2)
(1.3)
(1.4)

qy 15l AlaBLl Add 209 34 %3 O 7
oos1R WAL ved g !

wigail wtel .

Ae{l (SEBDl AHIx= s34l ALt 1oL & 7
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2 (1A usdlnidl S uLL 04 usl-L alel M) 12
(2.1) o2 WBAL 2 ARl 92AAL dslddel S URL ARl Yel il
(2.2) AR 2 viga AL A6l R,

2.3) 4 e e oAg Sl © ?
2.4) oo WBAHL QAL Reandl AHemdl.
2.5)  Ass A2kt 3dl d 2udl a3 ?

3 A usmidl S5 uel 03 warl-ll [gd walet A 15
(3.1)  AISS YRaU-L sluel Yol A8l waseldl>) agldl,

(3.2)  Aluslsaadl edld teddat U Beedd SSIAMS e ASRIALS
A [ dx uldendl 2.

(3.3)  usladl Budd xR sdl wResl xendl.
(3.4 -eueR ¥ed g ! d-l alm@isdi weldl.

3.5) sdalla YAl @ 2], sddla Yda vA sdl uResl
FRUAl.

ENGLISH VERSION

Instructions :
(1) All questions are compulsory.
(2) Options are Internal.

1  Answer the following questions in very short : 8

(1.1) Why is continuous study of business environment
required ?

(1.2) What is marketing management ?
(1.3) Explain the meaning of controlling.
(1.4) How does SEBI (SEBI) benefit the society ?

2  Answer any four (04) of the following questions : 12

(2.1) Give difference between selling and marketing. (Any
three points)

(2.2) Explain the relation between Planning and Controlling.
(2.3) What does capital structure consist of ?
(2.4) Explain the selling concept in marketing.

(2.5) How is consumer awareness created ?
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3  Answer any three (03) of the following questions : 15

(3.1) Explain the responsibilities of consumers according to
Consumer Protection Act.

(3.2) Give your views on the positive and negative effects of
globalization on the Indian economy.

(3.3) Explain the factors affecting the price of a product.
(3.4) What is money market ? State its characteristics.

(3.5) Giving the definition of working capital, state the
factors affecting working capital.
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